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General Instructions :
The question paper comprises of two sections, A and B you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.
All questions to section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions 6. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

10. An additional 15 minutes time has been allotted to read this question paper only.
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SECTION-A

An object starts with initial velocity u and attains a final velocity of v. The velocity of
the object is changing at a uniform rate.

Write the formula for calulating the average velocity V.

Give technical term for milk producing females and farm labour animals.
What is the nature of the distance- time graph for objects moving with uniform speed ?
Which characteristic of gas is used in supplying oxygen cylinders to hospitals ?

Give technical term for a medium which has exactly the same concentration as the cell ?
Why does the size of the cell remain the same when placed in such a solution ?

Distillation is method used for separation of components of a mixture containing
two miscible liquids. Give two reasons.

The gravitational force between two objects is F. How will this force change when :
(i) the distance between them is reduced to half ?
(i) The mass of one of the objects becomes four times

Name the simple permanent tissue which :
(a) Forms the basic packing tissue
(b) Provide flexibility in plants

Differentiate between :
(@) gand G
(b) Mass and weight (two differences)

Give reasons : (1 each)
(i) path of beam of light is not visible through a solution
particles of solution cannot be seen with a naked eye

What is free fall ?

Show mathematically that acceleration experienced by an object during free fall
is independent of mass of the object.

How do three states of matter arise ?

Give reasons for the following (1 each)

(i)  liquids take up the shape of the container in which they are kept
(if) liquids are more compressible than solids
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Glass

In the above experimental set-up, a student given the card a sharp, fast horizontal flick
with a finger.

(a) What will happen to the coin ?
(b)  Write reason for your answer.

Which permanent tissue :

(a) forms husk of coconut

(b)  stores nutrients and water in stems and root
(c) is irregularly thickened at corners

Thread

Look at the figure above :

(a) Name the kind of motion of the stone.

(b) Is this an example of accelerated motion ? Why ?

() Name the force that keeps the stone in its path.

(d) What is the direction of this force ? Draw it in your answer sheet.

With the help of a labelled diagram describe a activity to show that nature of matter is
particulate and not continuous.

Use the following material : 4 beakers/ glass, spoon, glass rod and sugar.

A van is accelerated uniformly from 36 km per hour to 90 km per hour in 3 seconds.
Calculate:

(i)  The acceleration
(ii) The distance covered by the van in that time
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List three factors on which cultivation practices and crop yield are related.

Name three stages involved in farming practices.

»

A

10 50 metre
Look at the figure above :

An object starts its journey from point 0. A, B, C, D and E represent position of the
object at different instants. The object moves through A, B, C, D and E and then moves
back to point C.

Calculate :
(a) The distance travelled by the object
(b) The displacement of the object

(c) Name the reference point in the diagram

() Name the process or the separation technique you would follow :
a) Dyes in black ink

¢) Ammonium chloride and common salt

(
(b) Butter from cream
(
(

d) Iron fillings and sand

Which principle is used in separation in centrifugation ?

Look at the diagram above and answer the following questions :

When a force is applied through the free end of the spring balance A, the reading
on the spring balance A is 15 gwt. What will be the measure of the reading shown
by spring balance B ?

Write reasons for your answer.

Name the force which balance A exerts on balance B and the force of balance B
on balance A.

Identify the dispersed phase and dispersing medium in the following examples of
colloids.

(a) Fog
(b) Cheese

(c) Coloured gem stone
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23. The velocity - time graph of a ball of mass 25g moving on road is as given below :

10

8
velocity ¢

(m/s) 4
2

time (s)

How much force does the road exert on the ball to bring it to rest ?
What is the direction of the force exerted by the road ?
Define one unit of force.

OR

An object of mass 200 kg is accelerated uniformly from a velocity of 10 m/s to 20m/s in
two seconds,

Calculate :
initial momentum
Final momentum of the object
Magnitude of the force exerted on the object
Does momentum have direction ? If yes, how is it specified ?
Name two factors on which change of momentum depends

What are weeds ? Give an example.

Why should weeds be removed from cultivated fields.

List five preventive methods that help in weed control.
OR

Give three reasons in which insect pests attack plants which affect the health
and crop yield.

Which two preventive measures are used before grains are stored for future use ?

Why does nuclear membrane have pores ?
Why do chromosomes contain DNA in the nucleus ?
Give two roles of nucleus in the cell.

OR

How does smooth endoplasmic reticulum differ from rough endoplasmic
reticulum. (2 points)

What do you understand by “membrane bio-genesis”?
What are the two main functions of endoplasmic reticulum ?
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26.

SECTION - B

Ankita was asked to prepare a true solution of alum. She followed few steps : -

(i) Took a beaker, poured 20ml distilled water.

(i) Added a pinch of powdered alum in the beaker containing distilled water.

(iii) Now a true solution of alum in water is ready.

(iv) stirred the water in the beaker with a glass rod till the alum dissolves completely.
Choose the correct procedure sequence :

(a) i, ii, iv, iii (b) (c) i, iii, ii, iv d) i, i, iii, iv

Rama took a petridish and added four pinches of sulphur powder and two pinches of
iron filings. Then she divided the mixture in two parts, A and B, heated contents of
sample B and then moved the magnets on sample A and B.

Magnet
Mixture

Iron particles cling to the magnet in case of A.
Iron compound in case of B clings to the magnet.
Iron particles cling in both cases A and B.

Iron particles don’t cling in both cases A and B.

Four students took four beakers A, B, C, D. They added soil, chalk powder, sugar, fine
sand in water in them and observed.

Soil + EE H H _ Fine sand +
Water Iiiit Foiziiil : E

B
A, B, D are suspension.
B, C, D are suspension.
C, B, A are suspension.

A, B, D are not suspension.
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Three students Avani, Sudesh, Hari were given funnels, filter paper, test tubes, test
tube stands, common salt, chalk powder, starch. They prepared the true solution,
suspension, colloidal solutions. Test tubes were arranged shown in the figure. They
observed filtrate in the test tubes and residue on the filter paper and concluded.

Filter paper
Funnel
Residue

Test Tube

iiitd  Clear water iiii3—— Clear water i:i:3—Translucent

A B

(A) A filterate is clear and residue is left

(B) Filterate is clear and no residue is left

(C) Filterate is translucent and no residue is left
Which of the following is correct ?

(a) Both B and C are solution

(b) Both A and B are suspension

() Only Cis colloid

(d) Neither A is colloid nor B is suspension.

Which is not a correct precaution to be followed by Vishnu to determine the melting
point of ice ?

(a) Zero mark of the thermometer remains above the ice surface.

(b) Keep stirring the mixture and look at the thermometer.

(¢)  Crush the ice into small pieces.

(d) Do not dip the bulb of the thermometer in crushed ice.

Components of a mixture of sand, common salt and ammonium chloride can be
separated select the correct sequence.

(a) sublimation, dissolving in water, filtration, evaporation
(b)  sublimation, filtration, dissolving in water, evaporation
(c) sublimation, evaporation, dissolving in water, filtration
(d) evaporation, filtration, dissolving in water, sublimation

Select the type of chemical reaction taking place when an a aqueous solution of sodium
sulphate and barium chloride are mixed.

(a) Combination reaction
(b) Double decomposition reaction
(c) Displacement reaction

(d) Decomposition reaction
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33. When zinc is added in dilute sulphuric acid, then out of the recorded observations
which is not correct ?

(a) Tiny bubbles with evolution of colourless and odourless gas.
(b) Lighted match stick extinguishes.
(©)

(

d) Moist blue litmus paper changes into red.

Gas burns with a popping sound.

On burning magnesium ribbon is in the air, the student will observe :
(a) white powder

b) shiny powder

(
() brown powder
(

d) none of the above

35. Anuradha observed a slide of nerve cell, drew its diagram. Choose the correct
labelling :

IV - Dendron
I - Dendrite

V - Nucleus

II - axon

‘,,PA ‘ﬁ III - Nerve endings

I, II, III, IV, V are correct
V, II, III, are correct

1V, V, 11, III are correct
Only I and IV are correct
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36. Nemesh was given three slides. By mistake he drew four diagrams. Select the correct
diagram of striated muscle.

A slide is fixed under a microscope, Renu will look for which of the following features
to call it parenchyma tissue.

a Round or oval cells

(a)
(b) Intercellular spaces are present
(c) This cell wall

(d) All the above

Which stain is used for staining cheek cells ?

a Safranine

(a)
(b) Methylene blue
(c) lodine

(d) Glycerine

Reaction between iron nail and copper sulphate solution is :
a) redox reaction

)
b) single displacement

(
(
(c) combination reaction
(

d) Dboth (a) and (b)
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40. When iodine solution was added to four samples of food I, I, I1I, IV. Which will develop
blue black colour ?

Boiled rice

Crushed potato
Boiled arhar dal
Powdered arhar dal
L 1I

I, 11, III

LI IV

I, 100, IV

When 2-4 drops of conc - hydrochloric acid are added in the given sample of arhar dal,
the pink colour is due to :

(a) Metanil yellow
b) Starch

(
(¢) Turmeric powder
(

d) Chalk powder
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